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What are the coordinates of the foot of the
perpendicular from the point (2, 3) on the line
x+y—11=07

(a) (2, 9) (b) (5, 6) () (=56) (d)(6,5)
" (2,3)

pof ®
g-3 = [+
-3 =X-2

7

O/D frm  Shoef Cf
Jam,% 'ff»i;

(8) (56)
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What 1s the locus of the point of imntersection of the straight
lines (x/a) + (y/b) =m and (x/a) — (y/b) = 1/m ?

(a) Circle (b) Parabola

(¢) Ellipse (d) Hyperbola
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ABCD is an isosceles trapezium and AB is
parallel to DC. Let A(2 3), B4, 3), C(S, 1) be the
vertices.

What are the coordinates of vertex D?
fa) (2, 1) X (b) (1, 2)

@ LYy @ B NS
p(2,3) 8(19,3)

1/ (2—,.:) --
(.71 (841) (41) c (5.1)

(ADr-Bc)
An!. (C) (’/’)
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ABCD is an isosceles trapezium and AB is
parallel to DC. Let A(2, 3), B4, 3), C(5 1) be the
vertices.

What is the point of intersection of the
diagonals of the trapezium?

@ (8 7/24 B B7/3 -
@ w2 @sma !

______/_)(,213)
)}




NDA 1 2025 REVISION - LIVE CLASS -2D GEOMETRY - 2

. If (a, b) is the centre and c is the radius
of the circle x2+)*+2x+ 6y +1=0,
then what is the value of a® + b% + ¢* ?

(a) 19
(b) 18
(c) 17

@ 11

radrug
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az-—/
b = -4
C = 3
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(=]

The equation of a circle is

{.ﬁa:E —4x+3}+[y2 -6y+8=0

Which of the following statements are 25 n d f w‘n ff 0 ]( dla m ¢7£T

correct?

I. The end points of a diameter of the
circle are at (1, 2) and (3, 4). are ‘ 1! / d[) 47)4 (12 f/ﬂ) , 79)6,)
\'

II. The end points of a diameter of the

circle are at (1, 4] and (3, 2). (
I1I. The end points of a diameter of the (X - 1,) (1 - 22) t d”dl](d —dp! - 0 7” '/
circle are at (2, 4) and (4, 2).

0
Select the answer using the code given C/Y‘c/()
below,

o) 1 1 o ('-4nr3) + (- gpt8) =0
(1-3)(x=1] + (y-2)(p-4) =0

fc} 1 and III only
(d 1,11 and III
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(x-SW) - d
N

cnfre 3 (2,3)

(?, ‘/) and (’l// Z)
v (mf mm¢) = (2/ c/) and (3/ 2) e
miaf/'vmf 2 (3/ 3) nof end PO}Y)ﬁ Q/ a’faMJﬁY'
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What is the eccentricity of the ellipse if
the angle between the straight lines
joining the foci to an extremity of the

minor axis 1s 90° ? 2 ,
(a)-1—1 ' A\(/D'b) 7*0!1,7 -/

3 b

0\ -
® 3 w}i—'  / ;/o/»e of AF
© % (—ae, 0) (d(,ﬂ) M, = b-0
&—— 206 — H — (_.ae)

1

D7 e— eccenfnef fi__ !/o/m o/ AFy
IY)L = 6'0 <

0 —ae
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62/7'_4_’: 7—-@%" e .
at T =7 \/j—eL 7 e =/-e?

282:/ 7 6-"(?;_')
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If the eq%mtmn of the hyperbola is
9y? —4x2 = 36, then

. the coordinates of foci are (0, + JE ) \/

2
II. the eccentricity is ﬁ . (€ <l — X) ;VY /0‘/30"0/4 ¢ 7/,

III. the length ofthe latus rectum is 8. \/_
X

_élz____z_,:._:/

2 H

-g?-e =y ( fransveyse axE — dr am} \*/
4
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4 |
2 = 3
b =2
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Kehdﬂ? o7f (afus  Yecfury =

{)
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Ifthe medians from A and B of the triangle with vertices
A (0,b), B (0,0)and C (a, 0) are mutually perpendicular

then

(ﬂ} a’="b? (b) 92 = 2hH2

(c) a®=4b? (d) 2a2=1b? s acﬁnﬂ
The 7‘m'avfc /s e7m°/a7cml , ot alfifudes.

Ac (!/7%7 = “_ﬁ:— (-:_g_ (_%) = -/
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A line passes through P (1, 2) such that 1ts intercept between
the axes 1s bisected at P. The equation of the line 1s

(a) x+2y=5 (b) x—y+1=0

(c) x+y-3=0 (d) 2x+y—-4=0

P(1, 2)
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If the coordinates of the points A and B be (3, 3) and
(7, 6), then the length of the portion of the line AB
intercepted between the axes 1s

5 J10
@ (b) e
(c) @ (d) None of these

Fronm (3,3) and (9,6) = 4 9]F I'ne = anverf 1his
info fnferc,efl'

forng
Disfanu  Lefween (o,b) and (a,o) = \/424—5’-

N

—
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Q) The perpendicular bisector of the line segment joining P
(1,4) and Q(k, 3) has y-intercept —4. Then a possible value
of k 1s

@ 1 (b) 2 © 2 d) -4
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Q)If (-5, 4) divides the line segment between the coordinate
axes in the ratio 1: 2, then what 1s its equation?
(@) 8x+5y+20=0 (b) Sx+8y—-7=0
(¢) 8&x—5y+60=0 (d) 5x—8y+57=0
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Q) What does the equation x3y + x3° — xy = 0 represent?

(a) A pair of straight lines only

(b) A pair of straight lines and a circle
(¢) A rectangular hyperbola only

(d) A rectangular hyperbola and a circle
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Q)If the image of the point (— 4, 2) by
a line mirror is (4, — 2), then what is
the equation of the line mirror?
(@y=ux (D) y =2x
(C) 4y = x (d) y =4x
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Q) The difference of focal distances of any point on a hyperbola
1s equal to
(a) latusrectum (b) semi-transverse axis
(¢c) ftransverse axis (d) semi-latusrectum

(=]
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EXAMS

Q) The two parabolas y* =4ax and

x° = 4ay intersect

(a) at two points on the line y = x

(b) only at the origin

(c) at three points one of which lies on
_+_

y =0
(d) only at (4a, 4a)
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Q)If A, B and C are in AP, then the
straight line Ax + 2By + C =0 will
always pass through a fixed point.

The fixed point is
(@ (0, 0) ) (=11)
) (1, -2) @1 -1
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Q) What i1s the locus of the point of intersection of the
straight line x cos® + y sin0 = ¢ and the straight line
x sin® — y cos6 = b?
(a) A circle (b) An ellipse
(c) A hyperbola (d) A parabola
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Q)What is the acute angle between the lines
Ax+By=A+Band A(x—y)+ B(x+y)=2B?

(a) 45° (b) tan™? [ A ]

J A%+ B?
(©) tan~> ( \/ﬁ) (d) 60°
+
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Q) The centres of those circles which touch the circle,
x*+y?— 8x—8y—4=0, externally and also touch the x-axis,
lie on:
(a) a hyperbola
(b) aparabola
(c) acircle

(d) an ellipse which isnot acircle
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The focal distance of a point on the parabola y* = 8x is 4.

Its ordinates are:

(a) *1 (b) +2 () £3  (d) =4
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